Lot 7
O:{Qccd&‘

So we soWed Kordotovi ch's problem

Yo Qo Hais Y\Q/QQD LW SONE
YY\chfs (?rcs’%m

via e Kortoovich dusd @ro‘o

Cco\s\n COWUSZ (L CONuEx onaludis
oA O@*\M\KOQ\M &
Lo X be am, U8,

Caxocice 11" Given o collection
49,@(\(;@\0(\54& % — YRU%*OOE Oiéz%t
{x 0L CONVEX "/Mm PﬂatSCom@c
’ \wcnco«wm 1SC vW\an WPy s



) G £:%X = ROzrf P9 s
COYQ\\)M&KQ £* ’)(,7 7“{\)?:"00?( <
g* u,\-— X §<u %)~ L

@LO’ A ‘4 ‘Q NN . ‘
W2 : ’U o0 \.‘m .\ul .
£2( N x £00Z <y Ve X ye X
A 3 4

Lovarno” Foc £ X5 RUH£
P £ ¢ corvex ancl (S

@%2 d?gm(ﬂ:éxé?( :/F(g><+ oéz |




@@Q Given £:X E(RU?W)? <1
Al £% are (Propen,

l’rs O} con\mq&+€ e %%RO%ME i<

£x) 2 S

A
Rk
o £2) T LN 2 <z ,?C> Y ,xe’,X,ueX"
o L2002 O

¢ Wl‘wa[wa%b Conuex | \SC

oT—

Ty (Fe\(\dﬂeﬁ Moo
@’(\/Qr\ /F (X ™ “?\U%’V@ (DFOM\
(N is Cox/\ﬁ/@_x o0 1g¢
4|
% s P(U)DQVO\\(\(Q ’F—:’F*?




(T4 £ s copwex ond /([Ko\“@)

Lo loc g 6. >0 =4 x)

e

Nt suﬂrdpg/g@uc\&id o% £

"G)co\!'\&a,g o d oL m’ve,r(\,pce:\’oﬁio«\ 08)4*

> Hhig is e%@c*(c& e nstion og (((eom\o(iwt\i,)\
Al | + ;mafg/

Al Orﬁimf&c&iom PO lem S

)
“ ] ‘\ ' l ' \
aNA  Z0oN X 1 O\ X () | XL (\
f

O .. e
)y O\ (A OK\Q(\’\' !& A7)

Q 0




A AL R UGS PORYL,
%ﬂ tho sbddjoendiad of
Tl 18 the <ot Arluad et

ok ()=
gué%ﬁ?fﬂ%ﬂ? ﬂa?i\+<u3< >+l - xI)
O as 7O

T1 «doon(£), dElx)=2.

el 6\«4(1 £ X5 RUE et
£ e Batenunx dittoentdoe
oA X \J€ /& \667@7 <t

w0 £t WA~ b = <%\f7\’£>}\do’5ex.
o . .
e denote o by DFEO)




Nt time example GAteaux
vy Frechok

T T4 He 4ble
od xefomn wf\ /H\Q(/\ I (%)= ngC X3

G%mk T+ £ i< copyex 0«\& c1<
?QGAZOM(%\ thon £ ie E8zaun

Al oA o A a((x\ S OE6NF
o T4 £:A>RU&E

@@@@ ol comvee oindl o eddom (),

A= S&ué/ﬁ %\74C/><\*(u>< )

\'J_ F\_—.l

ln
O




Monkal (e A=X"=R.

et O

7 o LN oK)
J

e the Miru pas&a %mujh

~
A,

L sy A6 with sldge

%o

>N

B2k

- aﬂc[(b:[/(ll]
7

<
l\
‘\—
= o P
y ~
< ——

~

-~

N

)

A «Cod e il Wyl 1L YNe ook

T £ AP RO+ g oxvged COMER,

Yo 00 loel W\L(\U"\A%@\ 0@

%\SO\-

&Q W(\AW\A%@

[Execcicd 14




® SEQLx).
_&w é og@osﬁé ConMort
Fix (@6 B’G [’X»

Cx €20 D@%\(\Q
W)= £l )=+ ><\"<x&7d~%>+f '~
Swe L&GM(%B

I ‘\V (3
>0 %;\é& O< (Ix'-x 1< g?ﬁ ||7( 7<H = 6

Trpacticidan, 3 &70 ot

V) g
n% O (ix'-xNe§ 5 [l '=xl| -



ﬂw\b o o o'esx 04 (X'xldg@
x\>() Alco \D\_S(Q@& Vix\=o.

Thus % 1€ o \oced W\M\Q&
Siace Vg CONVEL, A 1S obaQ
ST O/&(\V\é)’@()(&\X%

O = Nl) = W) =4 b\ L) <éx )

=«

Sem@«\c& E20 %‘weg
L)L) "'QS"X‘-Q Z0, W 'e X
Thw, téé S. n



Mﬁfg&l(&\%@b /QW)‘\S\(QQ NS CQM
0 CoN e x ch\iu\ac%mm M
Lol Obu\m;eQ (é%dbk

S Sat:s¢ ”g?/X'—jRU%*“’ ' cones
aed convex and %Ko Ao B8,

N

:> XQ € a’g&[(}ﬁ//

P‘(0\5 I’C ’c \ & \¢c¢ O\'\Y ?(U\
Ko C’b’(ﬂ;}( \ >(X96’Q(Xo\

’th'—l’wa S \ec eNEN LN
%634(%\55 X E 5@’&8,




gMW\’\D\c Tduitve um@)@ﬁr&y\ﬁ aﬁcmxx COY\\XU\@@
(WD = (R 11

£ D) JAFF(w) £y
e’ %e’ﬁ %@ . H gs0o T '\«Ccééo
206 \OCSC[}Q\\,Q (:SPD O £ L\_S-':O

P | Ly
X [ j

Ph)  OFk) (W) £F(L)
(L1 D)

) %Sgn(x\ dx20 O %
RIS & T oot
> N I
g ;lf |

e

AN




el foc C€X. e chomcresishi
R (0 1<

/,)Cc[x\ng W xe

z+00 coYronunel

Facks C cloged => X iclcc

( conwegX = Ko (e conuex




@maﬁl / Puald O@Jrimaa&tm Rsblerns

Goal CONLX. 06;%\ m&oﬁf Ve s C&Nm
£ convey, C convexy <olve

iﬂ& £(<) = ‘m%?cc/vd g ”XC (x)
XE e

R's:
O (Wnod 16 Yo rloe o& %"lr\giwum7
2T \(\& 00 R

. o ?
@Utmcgue r/uc\xm&m-
@C‘r\aﬂwf?@ﬁ% WM{Y\J\(&J\?



Koy Arick: oxenue Hag tenawior gl

< 0@*\%1«7&& v U@@b\e,m
o p@’(m‘ooﬁ'av\b

pe(h/u ST

el wan e X ond U oo
cion FAN >YRU§@><§

ol D=L aly), glh)= -

A€

The funckion Flxw) encodan The
i bakionos G{L{)/%c\ ok e considen .




W
i\fj\QK@a Swenple” Fhow) SOM
. > 0¢C ©o ovccidle (A)'Hf\
G)\‘O’G’euf\_. |

(Romn ‘
e j&f X (s o mus cot dual
NG M% @aﬁwir\

(
Ay, x 1)) = (cé\fx? )

Mo wakmw edl v
;Z}T%Qg & e provlems,
(\.QC/&A %@gm@

)+ F LSNV Y )t )



T toHiculen,
LD~ cmf\> O ¥ xe X, e

/H/\M})) Y&l Mwmg; N NE @OZDQ

/
—_—

ﬂw, e (I ceak condiAiony on &
NS =Do. i. ) [

no  dualih o
A

“Tom | g@ui’\ﬂﬁﬁ@ﬂ(ﬁ o Crined +His L)
Gher, T Ufred

SU\’j’j@M (PO <4 00 é‘ @ﬂmo& (pm\)\em (S
Seps\o\e

J

: . . ) , \ ~ I
b/" ; y : \gvn"_& M\




Then,

(DR =Do> F i< lor o =0

(\'\\/@o = Do O\(\& ON ONK L )

%@\em Q%‘g%
= YV (0 + D




